MFM2P NAME:

NUMERACY REVIEW — UNIT TEST REVIEW

DATE:

1. Solve by addition or subtraction (8 marks)
a) 10-2

b) -5-11
= = =il
c) -4 45 d) 6- (-5)
= | = L +5
= Il
e) (-1) + (-5) + (-9) e) 12-(-6) + (-4) -9
=z =l = 9=9 = 13d+ b -4 -9
z ~k=q = 1R-+-9
= — 13 = 14-9
= 'S

At the start of the summer Erin had $560 in her bank account. Over the summer she spent $235 and made $468

working her part-time job. How much money should Erin have in her account at the end of the summer?
(3 marks) _ -
QL0 - 233 +H bR

3D + by
%793

N

i

) f -~ _
e Dhe had 757‘%5 ot the end o the Summer

3. Solve by multiplication or division (6 marks)

a) 6x(-4) o (2x( &) -
= =24 = & = =l
b (=) d) (~36) + (—9) f) —4(2)(-3)
g =% = F 2 =9a8)
= QA+H

4. Determine a pair of integers that meet the criteria outlined (6 marks)

a) Multiply to -20 b) Multiply to 42

\ o £ (2
Addto 1 Add to -13 *3”&%& ve
~JLO H e
=% 180 -\ | =42
| | =20 el

-2 | o ZE 1w aldie

) - [ 4o >.—~(’ | ——L‘, - D

5] % |

c) Multiply to 25
Add to 10
&5

t. } as

— AL~

S | | o

N

l.
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5. Write each expression as a power (2 marks)

a) 4x4x4x4%x4 b) (—=2) X (=2) X (—2)
- 3
= ey = (~2)
6. Foreach power, indicate which number is the base and which is the exponent (3 marks)
a) 53 b) (—6)* c) 1251
Base: O Base: (-0 ) Base: |29
Exponent: 5 Exponent: -i. Exponent:

7. Evaluate (2 marks)

a) 53 b) 2°
SANAS B B
8. Evaluate (3 marks)
a) V36 b)\/@ c)V12
= b s R = 3.4
9. Evaluate (6 marks)
a) 2°-5! b) 42 + 102 c)V20—4
- 32~ = b + oD e § M
= ¥ G =V
c) 36+ 23 e) 92 — /68 — 4 f) 3% —+/9+23
= b+ S x G° - Jlbip = 27 -3+%
=\ = 31 -9% = A4 +$
2 =T = S

10. Simplify. (Don't forget BEDMAS rules) ~-SHOW ALL YOUR WORK- (11 marks)

a) -5+4x2 b) 2(4-1)+2x3
S -5 = al3)y ax3
= 3 = b =283
& e+ b
= s
c) 4(=3+1)*~(6-4)° f) V49 — (-4) + 3*
= o (- - (@® = TP Y 4 S
= = (4) - S = lrHS
= 1bo—% = 1l =9
- 2.0



MFM2P NAME:

DATE:
11. Evaluate using substitution. (12 marks)

a) 6a+3b whena=3,b= =2 c) —9x + y? whenx = —4,y = =7
- L) 3D == s (Y
= 18 = s = =qr-+Y + %9
= Mk - Bt 49
= \a = P

b) x?—3x+ 10 whenx=2 d)y? + 4y — 13 wheny=4

= (2 - 3(2)+ 10

T (9 113
= L —gg)flb

- | + L—i—cq) o

= k- b +1© o v b~ I3
it ———

1

19

=
= &)

M

12. Write the following ratios in simplest form (3 marks) o
a) 18:20 2 b) 20:40 + 20 c)36:720 -~

> g0 =.]:2 = 1. 20

13. Evaluation the following fractions. (6 marks)

3 1

\i

%]
|-£
|
c

2.0 20 'S (s
- 19 = 0
20 'S
)2 x2 d3 +Z
475 8
i oy = é— 3 15_
- L +
20
-3 ST
jO 2%
= (P8
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14. Jill thinks that -3 x -5 = 15. Her friend thinks that the answer should be -15.
Who is correct? Explain your answer. (2 marks)

Bl (S Correct. When UO\A 'MU‘H‘\QK\] Frvo ferms

\1\”{\(1‘("& J.V((\e SLS\/\S Clye. 1(4/\6 SC\FY\C) \JO\A 3{(’_”{‘ a_

o Si\Mive  conlwer

15. The temperature this morning at sunrise was 5°C. It rose 12°C by midday and then fell 7° by sunset. What was

the temperature at sunset? (3 marks)
5+ (2 ~F
= 171-=7 S The demperature ot Sunset
o, LO ’ G
= O WWWols

16. John wants to buy a used ATV that costs $2100 by the end of the summer. He has $650 in his account at the
start of the summer. He figures he will make about $1900 from his summer job and he wants to be able to
spend $350 on daily expenses. Will he have enough money at the end of the summer to buy the ATV? (3 marks)

bSo + 1960 - 350
= L5500 -850

i
= T 00

60 Ti)hr\ ol 59@_ able tO OCL\\‘QD(O( +he /J(T‘/



